
1. 	 Write each of the following as a C expression. (100/0) 

(a) (b2 - 4 a c) 12a (b) c x 9/5 + 32 (c) (f- 32) x 5/9 (d) w I (h 1100)2 

(e) s(s-a)(s-b)(s-c) 

2. 	 Answering the following questions. Assuming the address of variable x is 

Ox7000, and the address of variable a is Ox8000. (15%) 

(sizeof(int) =4, sizeof(char) =1) 

int x[5] ={1 OO,200,300,400,500}; char a[5] =fT', 'A'! '8' ,'L' ,'E'}; 

int *intptr; int *charPtr; 

intPtr = X', charPtr = a; 

(a) intPtr = ? (i) (int)charPtr =? 

(b) *intPtr =? U) charPtr + 1 = ? 

(c) intPtr + 1 =? (k) *(charPtr + 1) = ? 

(d) *(intPtr + 1) = ? (I) *charPtr + 1 =? 

(e) *intPtr + 1 = ? 

charPtr = charPtr+4; 

intPtr =&x[2]; (m)a[O] =? 

(f) intPtr =? (n) charPtr[O] = ? 

(9) intPtr[2] = ? (0) *charPtr = *charPtr + 1; 

(h) *intPtr =*(intPtr + 1); x[2] =? *charPtr = ? 

3. Design a recursive function Divide(int n) to divide the input integer n as a 

serial digit. (15%) 

Input: Input: 
n =23 

n = 148 
output: 
2 

output: 3 
1 
4 

8 
void Divide(int n){ 

1/ complete this program 

II hint: 

1/ 1487 % 1 0 = 7, 1487 I 10 = 148 

1/148 % 10 = 8,148/10 = 14 

} 
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4. Print out the output. (20%) 

5. 

class A {} 

class B {} 

class C { 

public static void main(String[] args) {} 

} 

(a) What is the filename of this Java program should be? (5%) 

(b) Please explains the functions of java.exe. (5%) 

(c) Please explains the functions of javac.exe. (5%) 

(d) Which one is filename extension of the code after compiled, 

(1).java (2).class (3).exe (4) no filename extension? (5%) 

(a) 


#include <stdio.h> 


int Fun(int, int); 


int Fun(int y, int x) { 


printf("FunO:x = %d\n" ,x); 


printf("FunO:y = %d\n, y); 


if (x > y) 


return x; 


else 


return y; 


} 

int mainO { 

int x, y; 


x =10; y =20; 


printf("mainO:x =%d\n", x); 


printf("mainO:y = %d\n", y); 


printf("max =%d\n",Fun(x, y»; 


return 0; 

} 

(b) 


#include <stdio.h> 


void A(int, int); 


int 8(int); 


void A(int x, int y) { 


int n; 


n = x; 


do { 


if(n == x) 


n = B(x); 


else 


n =B(y); 


}while(n); 

} 

int 8(int n) { 

n = n*10' , 


printf("B: n =%d\n",n); 


return n; 


} 

int mainO{ 

int n1, n2; 

n1 =10; n2 = 0; 

A(n1,n2); 

} 
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6. 	 The following list has 4 nodes, there are three pointers, the point first points 

to 1st node, the painter p points to 2nd node and the pointer q paints to 3rd 

node. (100/0) 


first q
P 

\ \ \ 


I 	10 ~ I 20 ~ I 30 ~ [40 NULL 
address (200) 	 (320) (150) (600) 

The structure of node is 

class Node { 

public: 


int data; 


Node *Iink; 


}; 


Fill in the answer (if any) in each of the following questions. (100/0) 


(a) first = ? (b) first->data = ? (c) first->link = ? (d) first->link.data = ? 

(e) 	first->Iink->data = ? (f) p->link = ? (g) p~>link->data = ? 

(h) first->Iink->data->Iink =? (i) q->link->Iink = ? 0) q->Iink->data = ? 

7. 	 Using Java to rewrite the following codes, the class Aircraft, class Fighter 

and mainO must in the different classes. (100/0) 

#include <iostream> class Fighter:public Aircraft{ 

using namespace std; protected: 

class Aircraft { int gun; 

protected: public: 

int engil1; Fighter(int, int); 

public: }; 

AircraftO; Fighter::Fighter(int e, int g):Aircraft(e), gun(g){ 

Aircraft(int); } 

}; int mainO{ 

Aircraft::AircraftO:engin(4){ cout«"Boeing 747:"«endl; 

} Aircraft Boeing747; 

Aircraft:Aircraft(int e):engin(e){; cout«"F18:"«endl; 

} Fighter F18(2, 1); 

return 0; 

} 
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